KMT APYUYY9 S5 KMT APYUYY9 S
3R g L i 1 52

B FEHE(mm) o & BAEEEE | g™ SEEEE ) %%

g

T g ——— d | D| B || Y-V y%fsﬁ; j'ff%/ Cr(N) | Cor(N) (rgﬁ]) (n?;() (n‘jﬁn (mF;X) 77-2RZ | 2RS | m=

@ N 5 Ui 32| 7 |030| 6804zZ| #*2RS | #*2RZ | 3470 2240| 30.0| 22.0| 220/ 0.30| 22000 | 13000 | 17

§ Ir o . 37/ 9 |030| 6904zzZ| 2RS 2RZ | 6390| 3590| 35.0| 24.0| 22.0/ 0.30| 19000 | 12000 | 37

. sl | ] g wus= SPOCHR 20| 4212|060 | 6004ZZ  2RS 2RZ | 9400| 5050| 38.0| 25.5| 24.0| 0.60| 18000 | 11000 | 70

& Y—-E SPCCHA3 47|14 /1.00| 6204ZZ| 2RS 2RZ | 12800| 6650| 42.0| 26.5| 25.0| 1.00| 15000 | 11000 | 106

— |/ | FJa B ’é’ i:ét;@‘u—x 52/15|1.10 | 6304ZZ| *2RS | #2RZ |15900 7900  455| 28.0| 26,5 1.00| 14000 | 10000 | 144

- - JIS PO 37| 7 |030| 6805zz| #2Rs | #2Rz | 3666| 2640  35.0| 27.0| 27.0/0.30| 18000 | 10000 | 21

- ] T o= & (@) TE= 42/ 9 |030| 69052z 2Rs 2RZ | 6650 4190| 40.0| 28.5| 27.0/0.30| 16000 | 10000 | 42

L AU S 25| 4712|060 | 60052Z] 2RS 2RZ |11900| 6550| 43.0| 30.0| 29.0| 0.60| 15000 | 9500 | 79

52/15/1.00| 6205zZ| 2RS 2RZ | 14800| 7850| 47.0| 32.0| 30.0| 1.00| 13000 | 9000 | 128

6217 |1.10| 6305zZ| *2RS | #2RZ |23400 11600| 55.5| 36.0| 31.5/ 1.00| 11000 | 8000 | 232

42| 7 |030| 6806zz| #2RS | #2RZ | 4020 3120 40.0| 32.0| 320/ 0.30| 15000 | 9000 | 24

47| 9 |030| e906zz| 2RS 2RZ | 7200| 5050| 45.0| 34.0| 32.0 0.30| 14000 | 8500 | 52

SmtsE(mm) o S Hrtﬁﬁgg;_é(mm) @%@Eﬁ%ggrg - 30| 55|13/ 1.00| 6006ZZ| 2RS 2Rz 13800 8300| 50.0| 36.5| 350/ 1.00| 13000 | 8000 | 116

@ 62/16|1.00| 6206ZZ 2RS 2Rz |20300|11300| 57.0| 38.5| 350 1.00| 11000 | 7500 | 199

d | D | B | (| YR y%ﬁ%ﬁz SE—%% Cr(N) |Cor(N) (gi{;) (rr?:x) (rg?n) (ml?ax) ZZ-2RZ | 2RS | gz 72/19|1.10| 6306zz| #2RS | %2Rz |29600|16000 655 425 365 1.00| 9500 | 6700 | 345

19| 5 |030 | 68002z | *2RS | *2Rz | 1590 760 |17.0|12.0|120|030 34000 | 24000 | 5 47| 7 |0.30| 6807zz| *2RS | %2Rz | 4310 3610| 45.0| 37.0| 37.0 0.30| 14000 | 7500 | 27

22| 6 |0.30| 69002z | 2Rs 2Rz | 2690| 1270 200|125 |12.0|030| 32000 | 22000 | 9 5510|060 | 6907ZZ| *2RS | %2Rz |10370 7180| 51.0| 39.0| 39.0 0.60| 12000 | 7500 | 75

10/ 26| 8 | 0.30 | 6000ZZ | 2RS 2RZ | 4750| 1960 24.0|130 | 120|030 30000 & 22000 | 18 35|62 14|1.00 | 60072Z| #*2RS | *2RZ |16000 10300 57.0| 41.5| 40.0/1.00| 11000 | 6700 | 151

30| 9 |060| 62002z | 2RS 2RZ | 5100| 2390 | 26.0|16.0 | 14.0|0.60| 24000 | 18000 | 32 7217 |1.10| 6207Zz| *2RS | #2RZ | 27000|15300 655 445 415 1.00| 9500 & 6300 | 284

3511|060 | 63002z | #2RS | #2RZ | 8200 3500 31.0|16.5|14.0 060 22000 | 17000 | 52 80|21 |150 #6307zz| *2RS | %2Rz |33500 19100| 72.0| 47.0| 430/ 1.50| 8500 | 6000 | 464

21| 5 |030| 68012z | #2RS | #2RZ | 1910 1040 |19.0|14.0 |14.0 030 32000 | 20000 | 6 52| 7 |0.30| 6808zz| #*2RS | #2RZ | 4420 3895  50.0| 42.0| 420/ 0.30| 12000 | 6700 | 31

24| 6 |030| 69012z | 2Rs 2RZ | 2890| 1450 220|145 140|030 30000 | 20000 | 10 6212|060 | 69082z *2RS | #2RZ |11270 8450| 580| 46.0| 44.0 060 11000 | 6300 | 112

12/ 28| 8 | 0.30| 600122 | 2RS 2Rz | 5100| 2390 | 26.0|155|14.0|0.30| 28000 | 18000 | 23 40| 68|15/ 1.00 | 60082ZZ| =*2RS | *2RZ | 17800 11600| 63.0| 47.5| 450/ 1.00| 10000 | 6000 | 190

32/10|060| 62012z | 2Rs 2RZ | 6800| 3050 280|17.0 | 160|060 22000 | 17000 | 37 80|18 |1.10| 6208zz| *2RS | #2RZ |32500 19000| 73.5| 50.5| 46.5/ 1.00| 8500 | 5600 | 366

37/12/1.00| 63012z | #2RS | %2Rz | 9700 4200 | 32.0|180|17.0 1.00 20000 | 16000 | 60 90|23 | 150 #6308zZ| *2RS | #*2RZ |40500 24000| 82.0| 53.0| 480 1.50| 7500 | 5300 | 636

24| 5030 | 68022z | *2RS | %2Rz | 2060 1260 220 |17.0|17.0|0.30 28000 | 17000 | 7 58| 7 |0.30 #6809ZZ| #*2RS | #*2RZ | 4620 4330| 56.0| 47.5| 47.0,0.30| 11000 | 6000 | 38

28| 7 |0.30| 69022z | 2Rs 2Rz | 4320| 2260|260/ 17.0|17.0/0.30| 26000 | 17000 | 15 68|12 060 #6909ZZ| *2RS | #2RZ |13500 10270| 64.0| 50.0| 49.0, 0.60| 9500 | 5600 | 126

15 32| 9 | 0.30| 60022z | 2RS 2RZ | 5600| 2840 300|19.0|17.0|030| 24000 | 15000 | 32 45| 7516/ 1.00 |*60092Z| #2RS | *2Rz |21000 15200| 70.0| 535| 500/ 1.00| 9000 | 5300 | 241

35/11|060| 62022z | 2Rs 2Rz | 7750| 3600 | 31.0|205|19.0|060| 20000 | 14000 | 45 85|19 |1.10 #6209ZZ| *2RS | #2RZ |32500 20400| 785| 555| 51.5/ 1.00| 7500 | 5300 | 420

42/13|1.00 | 63022z = *2RS | #*2RZ | 11400 5450 37.0 225 200|1.00 17000 | 13000 | 82 100 25| 1.50 | 63092z #2RS | *2Rz |53000|32000| 920 61.5| 53.0| 1.50| 6700 | 4800 | 829

26| 5 |030| 68032z | #2RS | %2Rz | 2130 1360 |24.0|19.0|19.0 030 26000 | 15000 | 7 65 7 | 060 #6810ZZ| *2RS | #2RZ | 5500 5270| 630| 525 520 060 9500 | 5300 | 50

30| 7 |0.30| 69032z | 2RS 2RZ | 4310 2310|280 195|190 030 24000 | 15000 | 17 7212|060 #6910ZZ| *2RS | %2Rz |13890 10990| 68.0| 55.0| 54.0, 0.60| 9000 | 5300 | 135

17| 35/10|0.30| 6003zZ | 2Rs 2RZ | 6800| 3350 33.0|21.5|19.0|0.30| 22000 | 13000 | 39 50| 80|16 | 1.00 |#6010ZZ| #2RS | #*2RZ | 21800 16600  75.0| 585| 55.0| 1.00| 8500 | 4800 | 261

4012/ 060| 62032z | 2Rs 2RZ | 9600| 4600 36.0|235|21.0|060 17000 | 12000 | 65 90|20 |1.10 |#6210ZZ| *2RS | %2Rz |35100 23300| 83.5| 60.0| 56.5/ 1.00| 7100 | 4800 | 459

47/1411.00| 63032z | #2RS | %2Rz |13500 6550 |42.0|255|22.01.00 15000 | 11000 | 115 110 27| 2.00 | #*63102z| #2RS | *2RzZ |62000|38500/101.0| 68.0| 59.0/ 2.00| 6000 | 4300 |1060
CrBABTRSY7IVEE Co=BANEESY7LEE CrBABTRSUZILEE Co=BAREESY7ILEE

HREEER HREEER




